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BONUS
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4 tables pushed together seats 20 students.
It will take 10 rows to get enough rows to seat 184 students.

10 rows of 4 tables each is 90 tables.

Yes. They would use the fewest tables to seat the 184 students if they use all of the 15
rows, because with each new row, you get the added benefit of the 2 students who sit
on each end of the row.

Any arrangement that uses 80 total tables spread among all 15 rows will be the best.
There would be 1 extra seat but no extra tables.

One solution that evens out the rows pretty well but still uses as few tables as possible
would be 5 rows of & tables and 10 rows of 5 tables.

Another example that has very uneven rows would be 8 rows of 4 tables, 1 row of 2
tables, and & rows of 1 table.




